Ma 8 BEDMAS Notes

There maybeisa order to do a math question in. ex 2+3+4=
2+3(4) =

You CANNOT just read in order from left to right for some questions.

BEDMAS is an to remind you of the correct order.

B---

E--

D-- & M--

A-- &S--

A sign still indicates a new term or grouping. You splita
bracket!!

Work out each grouping to get an integer. Then add/subtract the string of integers.
/

10+5%x4+2 5x4+2+10




~3-5x6+2+(~8~5) 3 (4+6)+8x2+-7

(-6 +2)(-5-3)+10= 57— (=3)}(-2)+(2-9 =

Do Order of Operations A

4+26
3242

25+ 1) +3()(4)
32+2)

Q+2)(-3)
32)(4) -5 +1)(-2)

Do Order of Operations--Fractions




Order of Operations -- Part A

1) 3+ ArK 9 b+ 2% + 9 17) -9+ b a7 a
2) - 17+ 39 106 F = 12 18) (-2) x(-t) = (-3)
3) -9 x4 > () 1) 93+ 4xZ 19 g+ 3(4) - 5(3)

4) 4+ 3L (3% 3)

12) (4436~ I5%x3

20) ~€'418 « 3L 1&

5

L

19 x (bfé) -8

13) =23+41S - 4¢3

21) (6-3) % IS -Q

6) \¥ -2x¥~-3xS

14 27-:3x0b

22) £ x S5x42a

N9 x(al—§) +b

1) &+ S (b-2D

3) 3+o0v5 - It

8) Hy 3 76 w2 +|

16) Y, v 2 — IS x2

) 324 5L-C)




25 -3(2¢7) -3

) 4 9 =3

43) - 44 = (11-4)

26) §,(s )(-2)+ &=+

35 5+ 3.2 -H(-\)

W -5 -4 -3(2>

27) 0 + 314 )L

36) 5+ 7(2)+ b(S)

) L+ 4Dl

28) x4 = 1S+§

19+ &< = I§

46)”é x> + 5("(«9)

29) GJO“‘L’)% 2

38) H 4 (a’l'-f"“f)-:f;

) 4. 3x3 +|

30 Ly 294 - €(2)

¥ - + (DD

W)+ 14 - 56

3D i, - 6) + 5(2)

W3 (-8)-2)- 8§

49) 14(2Y(2) + 2(3)

) acy 37 - €-9=1

41)59 riv+ b -9G%2

0 oot 25 + 5(-8)

3 1o-2-2)+ 13)

42) (5-3Y( L+1)

D (CH-3)(g+1) |




2 3(5-2) + €(3)

) 15) = 3(-1) +|

60)

o7 + \L,T-j‘—‘;

>3) 3 1’3(2’) 1 "|KE>

1303y -5(1)

Vo3 g 2(HYR)

AN £ (-2)

B LY-S) 4 5 (-12)

M u(7-2) - €L 2-1)

g 32 - 8(3)2)

) 2(<) < 7(L) + 9

oy g -7+3(-2)




el

Solve

Name:

Date:

Order of Operations Worksheet

in the correct order.

1a

. 9-2.2-3(-8)

b 10-(5-4+2%) + 2(-1)(3)

2a.

1° 4 8(2) - 3"
4

2b. 7—1 +(9—6)-2)

Ja

" 2*5 (2_-"'3(:54))

8§-3

3b. (1+2)°

-H(7+2)

da. 7 6+3 4b, 5 - (4-2)°
svra e .
7 1
5a. (5-—3)-6 S5b. 22
10 8
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Name : Score:
(@M@@' of mym@m)
Solve.
™/ ™
1) 6+42+2-15 2) 36-10%x2+5-11
Ans= | Ans =
.. AN /
- ~N ~
3} 25%x2-42+6+18 4) 3+32+8-9
Ans= i Ans= i
. AN
- N ™
5 8+9-2x3 6) 4-6x2+2+2
Ans= i i Ans = =
N AN /
s ~
7Y 125+2x6+4-3 \KB) 63+7x3-4
Ans = 1 Ans = I
\. / S
- N
9) 4+8-5x6 \/,1(}} 5+36+2%x3-4
Ans = Ans= i .
AN L
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N
(€ + 1) = g¢
T+ Xy =y
(7 =9 = o7’
(7 %) X 91
QI - %1) = {5 - ¢1)
CX 6 -0+ 57
¥ -t = cg

(VI _+ 81) - %9
i+ e-¢gxg

L]

I -8)zgyp 4+ ¢
2+ (1 - ) % ¢y

T+8 %z
8l - & + gy
L+ (€ ~ 6T

P+ {E~-9) Xy

(1 +$.MQ+$
@+e) X (v ¥

e

ST - 6 + 971
8§ + ST - /¢

“og

"6Z

“8¢

LT

"9z

Y4

"y

K44

"¢

&

(72— 92> -+ 81
T+ (&€ +6) X 9]

£ X & 17
L XL FE9

o

|+

(€T = L2) x (& - 8}

(€1 - ¢T) ¥ (6 - 12)

¥ + L X ¢

2 * (00T - €512

I1¢ — L X 2 4+ %1

0T - (9 + 2y ~ 6%

(& - L) =w

€+ £4) X71

7 4+ 9 X /

0% - 8T - 3¢

-1

C
|

Fled

&

X
e
LT e+ 7

&I + ¢ - 0¢

g - ¥+ 07

oz

‘61

. Qw.M

‘L1
91
"gT
A

"£1

!N.H‘

1T

-y

{y

< %) X 971

(¥

X %) X 91

0L -6 X 9

YP<+8+5 -6%1TC

¥ + 8¢ ~ L2

T +

£ X6 +81

0T % 0T+ 0T + 0%

01 - OT = 0T - 30T

-3

(z +01) X ¢
(€ + 9) - 3z
(8 - 1) X 9
(€ -~ €T} ¥ ¢
Exg
£t X —-c<CT
L= (8 + 0T
46 -~ LT
IS S i
4+ X C
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